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26. He &

Cn my work.

(A) at
(B) for
(C) with

D) of.

(D) upon.

28. (A) Abolish
(B) Aboolish
(C) Obelish

(D) Oboolish.
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aid that he was very pleased

ENGLISH
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30.

31

Question Nos, 20 to 33 are blank : Choose
the correct preposition and fill in the blank

to make sense :

99. We regret that we cannot comply

your request.

pppppppppppppppp

(A) to
(B) of
(C) with

(D) an.

The best candidate should be appointed

----------------------

He is addicted .........c.ooce.-. gAmbLNg.
(A) with

(B) for

(C) to

(D) of.
f T
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32.

33.

Question Nos. 34 to 36 are blanks - Choose
the correct article and fill in the blank to

make sense :

34.
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. Gold is ................. Precious metal.

On the way we came
old beggar.

(A) to

1111111111111111111111

(B) over
(C) across

(D) onto

He was accused ................... theft.

(A) with
iB) of
(C) for

(D) from.

She returned after ................. hour.
(A) a

(B) an

(C) the

(D) in.

(A) a

(B) an

J6.

.................

boy in the store,

(C) in

(D) a.

37. Write the synonyms of the word :

‘CALM :
(A) Noise

(B) Healthy
(C) Happy

(D) Quite.

Question Nos. 38 to 43 - Choose the correct

preposition to make sentence a meaningful

one.

38. He is Blind ..................... one eve.

(A) of

(B) at

(C) upon

(D) to.

(6)



_ She has no affection ................... me. 43. Thieves Broke his h
sissnnnenes NS house last

A) with night.
(A) to
l (B) on
(B) with
() to
(C) of
) for.
(D) for (D) into.
40. 1 do nOt AGTEE woovvewmmmmemeeese you. Choose the Correct Passive Voice.
(A) from .
44. 1 did not beat her.
B) at (A) She is not beaten by me
(C) with (B) She has not heaten by me
D) on. (C) She was not beaten by me
41. He is annoyed ........cocaneness YOU- (D) She have not beaten by me:
(A) at Question Nos. 45 & 46 : Find the correctly
spelt words :
‘B) on
45. (A) Scissors
(C) from
(B) Scisors
D) with.
(C) Ceassors
42. The ship 18 bound ...ccceemmeeesereees Mumbai. (D) Ceasors.
(A) to
46. (A) Transtion
‘B) with
(B) Trensition
(C)
o (C) Transition
(D) Trenston.

(D) for.

DL-2401(Series-D) (7) P.T.O



Question Nos. 47 & 48 : In the following | Question Nos. 49 & 50 : In the follgy,;
Iny

questions choose the alternative which best | questions choose the word which €Xpreg,
s

expresses the meaning of the given word : the opposite of the given word

47. Vanish

49, Clever

(A) Quarrel (A) Foolish

(B) Exile

(B) Fool

(C) Disappear (C) Slow

(D) Brighten. (D) Stupid.
48. Deny 50. Contract

(A) Refuse (A) Leave
(B) Resist (B) Expand
(C) Agree (C) Spread
(D) Measure. " (D) Distract.

DL-2401—(Series-D) | (8)
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(A) 896
(B} 898mm
() 900

(D) 901.

2. TF g9 &1 9y 22 cm B IWE TqAW | 52

F &9Fd (31 em? W) T

(A) i % ’
2
"i:?_ 77
h(BJ 1 * (B) 4
& :

MATHEMATICS
Mean of BO4, BOG, 898, 000, 9072 -
(A) B96
(B) 898
(C) 900

(D) 901

The circwn!'er of a circle i1s 22 em.

The area ofu u t (in cm?) is :

i i
8 8

53, A% wF A 4G FooF W 2n + 1 21 | 53.

@ wEE weR d W A e
(A) 6n + 3

(B) 15

(C) 12

(D) 21.
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i

If nth term of an A.P. is (2n + 1) then the

sum of its first three terms is :
(A) 6n + 3

(B) 15

(C) 12

(D) 21.

P00



fow aower 441m? 3
(A) 20
(B) 21
(C) 22

(D) 22.5.
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55.

96.

roots of the quadratie e
~X=6=0 are :

(B)

Find the smallest perfect Square nyp,

which is exactly divisible by numbe
9, and 15 -

(A) 900
(B) 1000
(C) 90

(D) 9000.

What is the length of the side of a squ

in meters whose area is 441m?2 ?

(A) 20
(B) 21
(C) 22

(D) 22.5.
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(A) 1057
() 89722
(C) 222000
(D) 1296.

js.Aaﬁ_{quﬂﬁm:

AB
x B
BBB

(A) A=7,B=4
(B) A=6 B=7

(C) A=4,B=6
-

(B) 1 =T 0
(C) | T -1
(D) 4 3 5.
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w—e—===-=-= | 59, Number ......ccc..... and ........

67. Which is the porfect nepanre 7

(A) 1067
(B) 89722
(C) 222000

(D) 1296.

58. Find A and B :
AB

(A}A:T,B:‘:

1l
&
(w3]

I
~]

(B) A

1

L
=
Il
o

(C) A

(D) A=4,B=T.

reciprocal

(A) 0 and 1
(B) 1 and 0
(C) 1 and -ll

(D) 4 and 5.

(11)
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G0, The number of vertices 1n i poly},
0. .

Gl1.

62.

: oy
which hus 30 edges and 12 facg, X

(A) 20

(1) 24

() 12

(D) 16,

I
2 23 9 1
—_ — ., — 1 -_.
7' 30" 10" 15 "™ 3

SER written in nsr:ending {Jl’{]l’:r, thEFIl

fraction in the midd]ﬂ‘ most .an bE

(A 4
' 3
e |
(B) _IE
23
(C) 30
o &
) 5

H.C.F. of two numbers is 28 and (ke
L.C.M. is 336. Il one number is 112 tk

the other number is :
(A) 84

(B) 98
(C) 56

(D) 70.
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(A) O
(B 46
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(M 15
e 37015 [ hen sT R
(A 81
(B) 35
(C) 31
D) T A F A

63, [EIE+213]:¢22 w1 UA AW aﬁﬁﬂ[:..

(A) 20
(B) 291
icy 2%
(D) 21!
66 1.2x10% @1 ama &
(A) 06x5%
(B) 1.2x10°
(C) 6.0x10%

(D) 6.0x10%%.
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UNS

65.

The vl of

—

‘uu-vn:uu 6.Axb4
D07 0.64 9.6 Mir;

(Al 0]
(I 4.6
(C) 4.2

(D) 15,

(A) 81
(B) 35
(C) 3l

(D) None of these.

Find the value of [2‘5 : 21'?)_-:2‘? :

(A) 9°
(B) 23
(C) 23'?

(D) 2!,

One half of 1.2x 1'.')3'::l is

(A) 0.6x5%
(B) 1.2x10%

() 6.0x10%

(D) 6.0x10%,

-l-
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. Fourth proportional to 3:7::15 = | |
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. 104 104
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(D) -2 s
6. 16/ 'y
16veVa P 68. The value of ]‘_6-,{3\!3 is -
(A) 835
. (A) g3
© 16 () 16 .
(D) 8. (D) 8,
69.  (100-300 1 20%) F 40% TyEy . 69.40% of (100-20¢, of 300) is equal
(A) 64 (A) 64
(B) 140 (B) 140
(C) 16 (C) 16
(D) 20. (D) 20,
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“\: n"! i l]:" [ Qﬂh

(m ;12 '.Tlll! + 112

(Cy (0 - b)(a - b)

(M (a+b)(a- b).

1
(64)6 = ?
(A) 4
(B) 1

(C) 2

(D) 3.

_ Tt wggu@ ded & IR & Uiy

44 em T IgF] Su 15 cm %‘I:“ﬂ'!?ﬁ

&1 3gaT (emd) o ® .(n=~2?£]:

(A) 2310
(B) 770
(C) 1540

(D) 1155.

70,

71.

72.

(15)

rrrrrrrrrr
........
rrrrrrr

(A) n?.
() u*-2ub+ b?
(C) (n=b){un-1)

(D) (a+b)(a-b).

(64)i = ?
(A) 4
(B) 1

(C) 2

(D) 3.

The circumference of the base of a right
circular cylinder is 44 em and its height

in 15 cm. The volume of cylinder in (cm?)

1 [ﬁ-—%) .
15 T :

(A) 2310
(B) 770
(C} 1540

(D) 1155.

P.T.O.
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(A) 6
(B) GO

(C) 0

(D) 5,

E§6§+5—=
(A) 40
(B) 405
(C) 425
(D) 43
5. R Fee ST 3:5 B ufe =

Hmaﬁﬁmwﬁmmﬁm

5:7 ¥ W R gen wm s

(C) 13, 12

(D) 15, 25.
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74,

5.

79. The mean of ten numbers j, te,

nnd -12 are included in theg, n,
i

The new mean will be ;
(A) 6
(B) 60
(C) 0

(D) 5.

. ]
Simplify the following 5 3

6%
(A) 40
(B) 405
(C) 42.5
(D) 43,

Two numbers are in the ratj, of 3

each number ig increased by 10 tk

becomes 5 - 7. The numbers gre

(A) 3,5
(B) 7,9
(C)-13, 12

(D) 15, 25.
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- GENERAL KNOWLEDGE

76. Which ono of the following is Nntural

Cleaner ?

(A) Pigoon

(B) Vulture

(C) Ostrich

(D) Eagle.

National Environment Engineering
Research Institution is located at :
(A) New Delhi

(B) Dehradun

(C) Nagpur

(D) Jaipur.

Which Gas leaked during the Bhopal gas
tragedy (1984) 7

(A) Sodium Isecyanate

(B) Bthyl Isocyanate

(€) Potassium Isocyanate

(D) Methyl Isocyanate.

On which day. is *Ozone Day” celébrated ?

" (A) 30th Janunary

(B) 28th April
(G) 16th September

(D) 15th December.
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A 4
(B) 8
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(D) 32
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4o, Oporation Flood fn asnaciuted v,

(A) Chroon Hovolutlon

(15) White Revolution
((3) Yellow Revolution

(1) Blue Revolution,

B1. What is the name of the Lander

Chandroyan-3 7

(A) Pragynn
(B) Vikram
(C) Ritu

(I2) Dhruv.

82. llow many Bils in one Byte ?
(A) 4
(B) 8
(C) 1024

(D) 32,

83. Who is known as the Father of Local

Self Government in India 7
(A) Lord Dalhousie

(B) Lord Mountbatten

(C) Lord Ripon

(D) Lord Macaulay.

(18)
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: ?
84. 'Nautanki' is the art of which State !

(A) Mnharashtra
(1Y Himachal Pradesh
(C) Gujnrat

(D) Ultar Pradesh.

85. Which of the following is the Highest
Waterfall in India ?

(A) Dudhsagar Falls
(B) Jog Falls
(C) Kune Falls

(D) Purva Falls.

86. Type of Blood Group is known as

Universal Donar ?
(AY A

(B) B

(C) AB

(D) O Negative.

87. Which metal is responsible for Itai-Itai

disease ?

I(A] Mercury
(B) Chromium
(C) Cadmiuxﬁ

(D) Nickel.

P.T.O.
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W fren v €2
(A) 1044
(B) 98.6
() 994

(D) 102,20,

N0 TR s m faarm fras foasfom
e up?
(A) fafaam gy
(B) J3w o
(C) i Etrec
(D) AT Ty,

0. ‘ﬁn‘ﬁmr:l.aﬁﬁuﬁ%?
(A) Tz
(B) <fag

(C) Hawarsit
(D) =zf=m

91. "TfFen weim wam' we fem 2

(A) =g
(B) =

(C) =t
(D) HET
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88.

89,

90.

91.

b
What is the Normal lh"‘:Hrnm’l‘ru |

Human Body in I"nhrunhgit? K, :
(A) 104.4
(13) 98.6
(C) 92.4

(D) 102.2.

Who developed the theory of ‘Bl%1

circulation’ ?7-

(A) William Har_‘vey
(B) Max Plank

(C) John Dalton

(D) Andreas Vesalius,

‘Ring’ is relateqd to which Sport ?
(A) Cricket

(B) Tennis
(C) Boxing

(D) ankey..

Where is ‘Inderkilla National Parlk’
located ?

(A) Kully
(B) Chamba

(C) Kangra
(D) Mandi.
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95.
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% Foip
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is . o,
y,

(A) Suhi fair

(B) Holi {air

(C) Minjar fair

(D) Dal fair.

Who gave the title of ‘Pahari Gandh?

Baba Kanshiram ?

(C) Sarojini Naidu
(D) Jawaharlal Nehru.

1Which is Floating Lake in Hlimack

'Pradesh ?
(A) Maharana Pratap Lake

(B) Dal Lake
(C) Parashar Lake

(D) Renuka Lalke.

Which district of Himachal Prades
‘Suketi Fossil Park’ ?

(A) Kinnaur
(B) -Sirm()ur

(D) Lahaul Spiti.

P.1
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99. Temrel Wi ww foen 9i€ ®r weme

(A) 1965 Z.
(B) 1997 2.
(C) 1985 =.

(D) 1969 Z.1
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d the Industrig) City
2

wWhich place is calle

of H
(A) Bnddi (Solnn)

imnchal Pradesh

() Rampur (Shimla)

(C) | Gagret (Una)

(D) Jasur (Kangra).

Which place is called the Winter Capitg
of Himachal Pradesh ?

i.,;A) Shimla

(B) Dharamshala

(C) Palampur

(D) Reckong Peo.

“The Sun Temple” of Himachal Pradesh
is situated in which place ?

(A) Kilar

(B) Nahan

(C) Nirath

(D) Haripur.

When was the Himachal Pradesh School
Education Board established ? .

(A) 1965 A.D.

(B) 1997 A.D.

(C) 1985 A.D.

(D) 1969 A.D.
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7 W 27

(4) FareeR i
(B) {01 el

(©) e W
(D) Ta <l

in Himachal Pradesh ?
(A) Rewalsar Lake
- hpexam S(B)[ Renuka Lake

. | (C) Gobind Sagar Lake

(D) Dal Lake.
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